NOTE: TO SIMPLIFY TESTING AND AVOIDING CHANGING VARIABLES AND FINDING IT
DIFFICULT TO IDENTIFY FAULTS, | HAVE CREATED THE FOLLOWING AREAS OF THE
CODE.... ANYONE WHO REQUIRES UAT TESTING CAN MODIFY THESE AREAS.....

1) These are my failed numerals during the testing phase

String []failingNumeralToDecimal = new String[]

2) These are all the valid numerals to be tested. With exception of the first one, this
simulates a rogue numeral... It will just ensure code is capable of both scenarios:

ALSO NOTE, | HAVE USED LOGIC THROUGHOUT THE WHOLE PROCESS. THERE IS
NOT ANYTHING IN MY CODE WITH HARD LOGIC MAPPING ROMAN NUMERAL =>
DECIMAL. THESE ARE JUST ARRAY LOCATIONS TO STORE VALUES AS PART OF THE
AUTOMATED TESTING....

String [] allNumerals = new String[

can be enabled to see outcome invalid numeral

XIII";
i1 _Numerals[13]="XIV";




This goes all the way up to. NOTE: | am terminating at 3999 due to irregularities after

4000 in Roman numerals is represented as |V with a bar or vinculum above it,
written as V. @

allNumerals|
allNumerals

allWumerals

allNumerals
allNumerals

3) | have set up areas like this so | can test necessary array above and the range within

easily.. Note it is useful if the session is killed due to memory usage of screen ouput... |
found it better to do this, than to reduce the screen outputs since.....

SPEED UP TEST C

o enter roman numeral

JUST ENSURE THAT REFERENCES ARE ALL EITHER TO ALLNUMERALS OR
FAILINGNUMERALS OTHERWISE IT WILL GIVE DEVASTATING OUTCOME



TEST CASE 1: My main objective was just to tailor my code so that it runs all numerals
disable the debugging = FAIL

Fddkdikkkikkkkikkekik: QRAND TOTAL#¥#kEkkekiki®

NOTE: Code is designed for up to MMMM=4880 due to notation changes henceforth
MMMCMXCIX is a VALID roman numeral

runningTotal:99

Not added total:4008

**TOTAL: 4099

FREFFRERRR R R kR R R R kR kR

Enter number numerals in the number to be converted to decimal:

Exception in thread "main™ java.lang.NullPointerException

at Main.main(Main.java:4065)

At this moment, this is my lowest priority since it has failed at the end of the code.

TEST CASE 2: Checking each entry individually to ascertain if it is the correct conversion
=FAIL

This is the first time | am seeing my software (written in 2024) fail. There are first two
examples and | can see many others in my outputs! All this is reminiscent of having to
divide certain totals by 2 under circumstances.




FdkEkdmkkkdkdkikkedkkikE QRAND TOTAL#®F#dskkkkikdE

NOTE: Code is designed for up to MMMM=40800 due to notation changes henceforth
XLIIT is a VALID roman numeral

runningTotal:40

Not added total:3
**TOTAL: 43

FEERERRRRRRRRR R Rk R R R R R R

Enter number numerals in the number to be converted to decimal:

This will be converted to decimal:XLIV

FRRKERERHERERRERRRERE GRAND TOTALFHEFkERERERER

NOTE: Code is designed for up to MMMM=40800 due to notation changes henceforth
XLIV is a VALID roman numeral

runningTotal:22

Not added total:®@

**TOTAL: 22

FEERERRRRRRRRR R Rk R R R R R R

Enter number numerals in the number to be converted to decimal:

This will be converted to decimal:XCIV

EEREEREEFERERERRREERE GRAND TOTALFRERERERRERER

NOTE: Code is designed for up to MMMM=4890 due to notation changes henceforth
XCIV is a VALID roman numeral

runningTotal:47

Not added total:®

**TOTAL: 47
B Ty T T e T T

I will quickly try this numeral in the original code. | suspectissue will persist.

TEST CASE 2a; Testing numeral XLIV = FAIL against:
https://www.amitamlani.com/26032024/1/Main.java_(This was code extensively

tested)

FEoRiokkkkRRR kR RRRRRkE QRAND TOTALF*¥FkxdkikkEE

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
XLIV is a VALID roman numeral

runningTotal:22
Not added total:@

**TOTAL: 22
E T LT TR P P e T

This was of little surprise seeing that | evolved my automated code from this.

TEST CASE 2b; Testing numeral XLIV = PASS against:
https://www.amitamlani.com/26032024/2/Main.java



https://www.amitamlani.com/26032024/1/Main.java

--- Note: It relies on old logic calculations from ruledSingle:(@)splitting runningTotal under circumstances

EEXERERERERTERERTERERE NEW LOGIC: GRAND TOTAL*##¥dxsszsrsx

NOTE: Code is designed for up to MMMM=4888 due to notation changes henceforth
XLIV is a VALID roman numeral

runningTotal:44

Not added total:®@

**TOTAL: 44
FIR KRR ORI R RO OOOR R R KRR ROR

This was the code | managed to locate on my machine before my trip to Cancun on 18
March 2025. | had tested it tentatively ONLY..

So now, my focus will be to upgrade this code to automated version.

| believe it is a case of copying the main method across and also removing the old
programme logic output (at end of code). | will maintain all debugging information even
though it prevents execution to 4000.

TEST CASE 2c; Testing numeral XLIV _=PASS XCIV=PASS against:
https://www.amitamlani.com/26032024/2/Main.java (previously tentatively tested)

This code has executed to its limit...
It reached 509, but | can be seen there are errors that have occurred in this range.

TEST CASE 3: Commenting this section of code from = FAIL

https://www.amitamlani.com/26032024/2/Main.java (previous all passed in 2024) and
will see the outcome.

if (Subtr‘active IplacedIncorrect && !rule3Fail Fc:ur‘InAch»JState}

F (runningTota unTota 0 && FlagSe ~ue) have commented

this section, so that it
i ooks similar to the
runningTotal = runningTotal / 2; other code



https://www.amitamlani.com/26032024/2/Main.java
https://www.amitamlani.com/26032024/2/Main.java

EEEEEEEEEEEEEEEEEEEEES GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation chang
CCCXCIX is a VALID roman numeral

runningTotal: 99

Not added total:300

**TOTAL: 399
Hokkkk ok kR k kR ok Rk Rk Rk Rk kR kK

Enter number numerals in the number to be converted to decimal:

This will be converted to decimal:CD
EE S S R RS RS S RS S GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation chang
CD is a VALID roman numeral

runningTotal:5ee

Not added total:®

**TOTAL: 5080
s sk ok ok K K ok Ok oK ok ko oK K ok Ok ok ok Kok ok K ok

I can see itis jumbling a lot of the numerals expected to be 4XX into 5XX.
This seems much more erroneous than having the above code present.

It appears that both versions are failing at certain points.

To keep this manageable, | will export results for these versions (with and without this
section of code). It seems all errors are between 400 — 500, 3400-3500....

| am storing the master main method at bottom of this document.

TEST CASE 4: Create a spreadsheet showing systematic testing to identify number
range(s) causing issues for both Java classes

| ascertained there were less failed conversions in this version:
https://www.amitamlani.com/26032024/2/Main.java
So | decided to remediate this version..

TEST CASE 5: Homing into certain sections and devising if conditions to ensure the

roman numeral tallies up..
https://www.amitamlani.com/26032024/2/temp/Main.java

So | have reduced significantly the number of failed conversions... (from approximately
over 400 (not this was more of a heatmap taking into several anomalies with ranges), all
the way down to 25.

Now | can see that it is not a case like previously in which it alternated in a range
between pass an fail.... This has made my troubleshooting much easier now since | can



focus on different variables that were returned in my old logic.

I have introduced these two loops by closely examining the old logic outputs of
variables....

if (ruledSingle<runningTotal && ruledSingle!=0 && runningTotall!=0)

I
L

52,"’5terl'l .out. pr‘intlﬂ ( "THIS RULE* Sk R R RO R R ok R R R O R R R R Rk R Rk *:1" } ;

runningTotal=ruled4Single;

if (ruleb==rule7 && rule6!=0 && rule7!=0 && unTotall= & unTotal%

I

L
5‘-,-‘5ter‘n _out. pr‘ithlﬂ ( "THIS RULE#*# sk doom o dohor oo ook oo oo R ok R R ok R R ok ) o } ;
System.out.println("UNTOTAL IS: " + unTotal);
unTotal = (unTotal/2) + rule6;

I need to be extremely careful that any further logic | implement to resolve failed
conversions such as: 400, 445, 449, 494, 499, 944, 949, 1099, 1445, 1449, 1494, 1499,
2444,2499, 2944, 2949, 2994, 2999, 3445, 3450, 3495, 3500, 3994

| can see almost all of these are represented with 4 and 9... This is where subtractive
notations are enforced... The most odd anomaly is 400.. Since this is exactly CD.

TEST CASE 6: |dentifying the issue with incorrect roman numeral for 400

This became my first priority. Not only because it was the first failed case. But it was one
of the most elementary huma error and it had not flagged up until now.
| believe the error debugging assisted me heavily...



i . . . should have repr
int [][] subtractiveNumeralsRange = new int[6][2]; end of the subtra
for (CD), whic
corrected this immediately

subtractiveNumeralsRange[8][@] 1; subtractiveNumeralsRange[8][1]
subtractiveNumeralsRange[1] 1; subtractiveNumeralsRange[1][1]
subtractiveNumeralsRange[2] H subtractiveNumeralsRange[2][1]
subtractiveNumeralsRange[ H subtractiveNumeralsRange[3][1]

subtractiveNumeralsRange[ 1 subtractiveNumeralsRange[4][1]
subtractiveNumeralsRange[5][0 H subtractiveNumeralsRange[5][1]

TEST CASE 7: Checking the conversion again for CD = PASS

TEST CASE 8: Running through all the numerals again, created another column on
spreadsheet AF

These are the numbers that are failing. It can be seen that all of them have failed as a
result of this newly created if loop

Unfortunately | can see that although it fixed several issues, there are numbers which
previously passed that are now failing.

We know that since none of the rule values are being changed or unTotal is not being
made into 0, entering one statement can not influence decision of another...

1052|Decimal: 1046 => MXLVI allNumerals[1045]="MXLVI";

This passed with bottom two methods but failed when top one was introduced

if (rule2= rule6<unTotal rule6 unTotal!=0)

s .out.println{"THIS RULE***
unTotal=rule6;

f (rule4asingle<runningTotal && rule4Single!=8 runningTotal!=8)
em.out.println("THIS dwv
runningTotal=rule ese tw
ethods
but failed
f (rule6==rule7 rules! rule7!=8 && unTotall!-0 &% ot ) when the
top one was
. ntroduced
m.out.println("THIS -

cout.printlng oT/ " + unTotal);
unTotal = (unTotal/2) + rul

NEW LOGIC: GRAND TOTAL****x*Hkxxrk*

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth

MXLVlis a VALID roman numeral




ruledsingle: 40
runningtotal:40

runningTotal:40

Not added total: 1006

**TOTAL: 1046

OLD PROGRAMME LOGIC

MXLVlis the roman humeral

number of Vs: 1

number of Ls: 1

number of Ds: 0

ruled: 0

rule2: 0

ruled4Single: 40 //We can try to create a condition based on this statement
ruleb: 6 //We can try to create a condition based on this statement
rule6: 40 //We can try to create a condition based on this statement
rule7: 0

threeinarow:0

Untotal:1006

We can see that rule4single is equal to rule6single
| can perhaps try to check another case to see if this is the same test case outcome...

This also passed with two if rules, so | will check if there is similarity to above...

ilDecimal: 1_|14Ei =>MCXLVI

It also has:

rule4Single: 40

rule5: 6



rule6: 40

rule7: 0

| have now narrowed down the criteria further as below and re-instaed this.

if (rule2== ruleb<unTotal && rule6!= unTotal! ledSingle!=ruleg)

m.out.println("THIS RULE**
unTotal=rules;

TEST CASE: Testing numeral 1146 and 1046 and any other numerals which passed
without using the above condition, then failed above (excluding red part) and now
testing with entire block above = PASS

This proves that code is remediative.

TEST CASE: column AK Same as test case above, but now going through entire ranges

that failed under similar circumstsances...

It now passes

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MCXCVI is a VALID roman numeral

ruled4single: 90

runningtotal: 90

runningTotal: 90

Not added total:1106

**TOTAL: 1196

My main interest is to try block range such as 14XXin which issues started to mount

It has removed all major errors and left me with issue on;
Decimal: 1444 => MCDXLIV (this has been problem with and without the if rule3 condition....
Decimal: 1446 => MCDXLVI (this has been problem only with if rule 3)..

So | will quickly examine 1446, similar before without this condition.
And see why it entered here and place measured to prevent it from entering...

OLD PROGRAMME LOGIC



MCDXLVI is the roman numeral

number of Vs: 1
number of Ls: 1
number of Ds: 1
rule4: 0
rule2: 0

rule4Single: 0 performing rule4Single!=rule6 will force this into if 3a, butwe wantto keep it out of the loop

if (rule2==0 && rul inTotal && rule6! & unTotal!=8 && ruledSingle!=rule6)

m.out.println("THIS RULE*
unTotal=rules;

We can see there is absolutely no difference between variables populated in this numeral compared to
one below... The only visible difference is that rule4Single =0 (here) and on MXLVI, rule4Single !=0
So | canincrease the logic even further in this if loop
if (rulez & rule6<unTotal && ruleé unTotal! rule4single!=rule6

1
m.out.println{"THIS RULE

unTotal=rules;

rule5: 6

rule6: 400

rule7: 0

threeinarow:0

Untotal:1006

MCDXLVIis NOT a VALID roman numeral

Address the issues outputted for a valid Roman numeral

MXLVl is the roman numeral

number of Vs: 1

numberofLs: 1

number of Ds: 0

rule4: 0

rule2: 0

rule4Single: 40 //We can try to create a condition based on this statement

rule5: 6 //We can try to create a condition based on this statement



rule6: 40 //We can try to create a condition based on this statement
rule7: 0
threeinarow:0

Untotal:1006

TEST CASE: [ will now try the more enhanced conditional loop and run through some of
the numerals that failed in Column AF. | will record now in column AK...

Decimal: 146 => CXLVI =PASS
Decimal: 196 => CXCVI = PASS
Decimal: 445 => CDXLV =FAIL butthis never failed when if rule 3 was more simple
Decimal: 449 => CDXLIX = FAIL but this never failed when if rule 3 was more simple

So it has failed to enter this loop. Since rule4single is 0, it has not entered here....

if (rule2==¢ rules<unTotal rules! % unTotal! ule4single!=rules le4single!=8)

m.out.println("THIS RULE*

unTotal=rule6;

CDXLIV is the roman numeral
number of Vs: 1
number of Ls: 1
number of Ds: 1
rule4: 0

rule2: 0
rule4Single: 0
rule5: 0

rule6: 400
rule7: 0
threeinarow:0

Untotal:500

But it has passed on this:
(tenters since it does not check rule4single)...



if (rulez & rule6<unTotal && rule6! &t unTotal! le4single!=ruleg)

m.out.println("THIS RULE**
unTotal=rules;

CDXLIV is the roman numeral
number of Vs: 1
number of Ls: 1
number of Ds: 1
rule4: 0

rule2: 0
rule4Single: 0
rule5: 0

rule6: 400
rule7:0
threeinarow:0

Untotal:500

This has left the testing extremely difficult since there is no other conditions | can try to bring in apart
from relaxing the if statement..

If 1do not find a solution, | will just it enter the if loop (i.e create a repeat loop) without rule4Single!=0
And only let decimals in certain range into it (I will keep track of those numbers).

Whilst the above problems are issues, | am trying those which have not been fixed by any of my new rule
conditional statements..

TEST CASE: = PASS

Decimal: 2944 => MMCMXLIV
It has been outputting 3044 initially and now 2044... | have had to change my logic. However this code
had massive effect elsewhere os it was removed.



if (ruleb==rule7 && rule5!=0 && !inside)
I
L
51 stem.out. pr‘intln( "THIS RULE***FEERRERRR AR IR R RN R AR R R RN R R R R R R R " ) H

unTotal = rule6 + rule2;

inside=true;

//runningTotal =

--- Note: It relies on old logic calculations from ruled4Single:(®@)s
EEEEEEEEEEEEEEEEEEEEES NEN LOGIC: GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes
MMCMXLIV is a VALID roman numeral

ruledsingle: ©

runningtotal:44

THIS RULE******************************************4
runningTotal:44

Not added total:290@

**TOTAL pgaweiel:¥:}

EEEE L L LR L EEEEEEEEEEEEEEEEES

Fkkkkdkhkkkkkkkkkkdkhhkkkk kR kkkhkkkk kR kkkdhkkEkk

OLD PROGRAMME LOGIC

Ekkkkckkkhkkkckkkkkkkkhkkkokkkhkkkkkhkkkkkkk kR ki kkE

MMCMXLIV is the roman numeral
number of Vs: 1
number of Ls: 1
number of Ds: ©
rule4: @

rule2: 2000
rule4Single: ©
ruleS: 1100
rule6: 9ee
rule7: 9ee
threeinarow:@
Untotal:2900

I am now going to run all the numerals again..
And | will just need to accept the outcome that arrives.....
| have definitely tried everything possible in my means.

FAILED NUMBERS
444, 449, 494, 499, 944.949, 994,999, 1444,1449,1494,1499,1944,1949,1994,1999,
2444,2449,2494,2499, 2949,2994,2999,3444,3449,3494,3499,3944,3949,3999




| have now just taken opportunity to run through my original code and also implement the three if
statements. To make this easier, my results are recorded at the top. | will also place its roman numeral
next to it, which will be useful to identify pattern.

Depending on the variations, it might require a different approach to resolve this...

But it can clearly be seen a pattern at the top numbers..

| feel now | have to look beyond the rules and the patterns in the numbers above that have emerged....

TEST CASE: Run both my original codes and removed any unnecessary rules

which | had no logical explanation for

| have identified a pattern... | am now sharing the information as images on the site...

444

449

494

499

944

949

994

999

1444
1449
1494
1499
1944
1999
2444
2449
2494
2499
2944
2949
2994
2999
3444
3449
3494
3499
3944
3949
3999

Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:

Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:
Decimal:

442 =iCDXLLY AFTER ALL THIS ANALYSIS | HAVE SPOTTED A COMMON PATTERN.... IRRESPECTIVE OF ALL
449 => CDXLIX ADDITIONAL IF STATEMENTS, THERE IS A COMMON TREND
494 => CDXCIV - CD XL IV
439, =23 COXCIX 144 Decimal: 444 => CDXLIV w ww
944 => CMXLIV —
949 => CMXLIX 2449 Decimal: 2449 => MMCDXLIX
994 => CMXCIV
1444 => MCDXLIV
1449 => MCDXLIX
1494 => MCDXCIV Subtractive
1499 => MCDXCIX not cluding V)
1944 => MCMXLIV
1999 => MCMXCIX
2444 => MMCDXLIV
2449 => MMCDXLIX
2494 => MMCDXCIV
2499 => MMCDXCIX | can conclude that there has to be a minimum of
2944 => MMCMXLIV three subtractive notations (and one of them is IV
2949 => MMCMXLIX or IX)
2994 => MMCMXCIV
2999 => MMCMXCIX | will apply this logic into r f
3444 => MMMCDXLIV c and getrid o
3449 => MMMCDXLIX e
3494 => MMMCDXCIV r
3499 => MMMCDXCIX
3944 => MMMCMXLIV
3949 => MMMCMXLIX
3999 => MMMCMXCIX

d DECIMAL 1944
OLD PROGRAMME LOGIC

B S L P ]
MCMXLIV is the roman numeral

of Vs: 1

of Ls: 1

number of Ds: @

ruled: @

rule2: @

rule4Single: @

number

number

They both have subtractive
notation of IV, can not use
that within the condition

threeinarow:@

Untotal : 2680
FRELEEEEERREREEEEREXE GRAND TOTAL*¥#¥fxkektsts
NOTE: Code is designed for up to MMMM=4860 due to notation changes henceforth
MCMXLIV is a VALID roman numeral

runningTotal:44

Not added total:2660

=xTOTAL: 2044

(kckkRkkkkkk kRl kkkk R ok x|

OLD PROGRAMME L

R T e s
CDXLIV is the roman numeral

number of Vs: 1

number of Ls: 1

number of Ds: 1 B - .

ruledSingle: @
rule5: @
rule6: 400
rule7: @
threeinarow:@
Untotal:500

They both have subtractive

notation of IV, so | can not us

KRR EXEKXEEEXREERELRE GRAND TOTALR¥=¥%x %254
NOTE: Code is designed for up to MMMM=400@ due to notation changes hencetorth
CDXLIV is a VALID roman numeral

runningTotal:44

Not added total:50@

**TOTAL: 544

K KL KR E KRR REEKEEKEKE KR KRR



The logic is even simpler, | can deduce that if it has three subtractivenotations (initial numeral), it is
guaranteed to have and IV or IXiin it...

TEST CASE: Implement logic to check for three subtractive notations including IV or IX within

entire numeral.
Also create the if condition to derive an alternate total

| have added this area on new code:

reSubtractiveNumerals.length;v++)

d a nest loc
oreSubtractiveNumerals[v]==subtractiveNumerals[j])

isstoredJvalue

if (storeSubtractiveNumerals[v]==subtractiveNumerals[i])
I
L

isStoredIvalue =

toredIvalue)

storeSubtractiveNumerals[indexLocation]=subtractiveNumerals[i];
indexLocation++;

}

if (!isStoredJvalue)

I

L
storeSubtractiveNumerals[indexLocation]=subtractiveNumerals[j];
indexLocation++;

TEST CASE: Check Decimal: 444 => CDXLIV = PASS

EXEEXEXRFXEEX XXX ERFER GRAND TGTALX“***“X‘*S*
NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CDXLIV is a VALID roman numeral

runningTotal:44
Mot added total:4ee
**TOTAL: 444

kT EERR TR R R EE TR R RN TR L RRRRE TR




TEST CASE: Check Decimal: 1944 => MCMXLIV = PASS

FEXTTELXLLEETELXETEEEX GRAND TOTALF*F*F+FEsExr£Es

NOTE: Code is designed for up to MMMM=4060 due to notation changes henceforth

MCMXLIV is a VALID roman numeral
runningTotal:44
Mot added total:19e@

**TOTAL: 1944
EEEETEEEEREER R TR TR R LT RRERTEEE

I will now go through all the failing test cases... Itis best | put them in a separate array...
And see how the code executes

TEST CASE: Create a String array for all failing numerals and execute the code = PASS
This is the first time in all my coding efforts have these humerals passed.

hhkkkkhkhkkhhkkhhkhkkhkkhhkhhkkhkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CDXLIVis a VALID roman numeral

runningTotal:44

Not added total:400

**TOTAL: 444

hhkkhkhkkhhkkhhkkhkhkhkkhhkkhhkhhkkhhkhhhkkhhkkhhkkdhkkhhkkxx

kkhkkkhkkkhkhkkkhkkkikhkkhkkkhkkhkkihkkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CDXLIX is a VALID roman numeral

runningTotal:49

Not added total:400

**TOTAL: 449

kAhhkkhkhkkhhkkhkkhkkhkkhhkkhhkkhhkkhkdhkkdhkkhkhhkhkhkkrhkkihkhhkxkx



khkkkhkkkhkhkkkhkkkihkkihkkhkkhkkikkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CDXCIVis a VALID roman numeral

runningTotal:94

Not added total:400

**TOTAL: 494

khkkkhhkkhkhkkhkkhkkkihkkhhkkhhkhkrhkkihkkhkhkhkkhkhkkihkkihkhhkkx

hhkkkkhkhkkhhkkhhkhkkhkkhhkhhkkhkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CDXCIXis a VALID roman numeral

runningTotal:99

Not added total:400

**TOTAL: 499

khkhkkhkhkkhkhkhkkhkkkhhkkhhkkhkhkhkhhkkhhkkhkkhkhkhkhkkihkkihkhkhkkx

hhkkhkkkhkhkkhhkkhhkhkkhkkhkkhhkkhkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CMXLIVis a VALID roman numeral

runningTotal:44

Not added total:900

**TOTAL: 944

BRI R R R R e R R R e R R R R R R e i R

*hkkkkkhkhkhkhkkkhkkkkhkhkhkhkkkx GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth

CMXLIX is a VALID roman numeral



runningTotal:49
Not added total:900

**TOTAL: 949

KhkkkkhkAkkhkkkhkkhhkhkhkhkkhkkhkkhkkhhkhhkkhkkhkkhrhkrhx*x

kkhkkkhkkkhkhkkkhkkkihkkihkkhkhkhkkikkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CMXCIV is a VALID roman numeral

runningTotal:94

Not added total:900

**TOTAL: 994

khkhkkhkhkkhkhkhkkhkkkhhkkhhkkhkhkhkhhkkhhkkhkkhkhkhkhkkihkkihkkhkhkkx

kkhkhkkhkkkhkhkkkhkkkihkkikkkhkkhkkihkkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CMXCIXis a VALID roman numeral

runningTotal:99

Not added total:900

**TOTAL: 999

khkhkkhkhkkhkhkhkkhkkkhkhkkhkhkkhkhkhkkhhkkhhkkhkkhkhkkhkhkkihkkihkkhkhkkx

kAkhkkhkhkkhkhkkhkhkkhhkkhkhkkhhkkhkhkhkkhkkx GRAND TOTAL************* /FAIL ShOUld be 1444
**** difficult with available values in rules variables

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MCDXLIV is a VALID roman numeral

runningTotal:44



Not added total:1150

**TOTAL: 1194

KhkkkkhkAkkhkkkhkkhhkhkhkhkkhkkhkkhkdhkhhkkhkkhkkhhhkhhkx*x

Kok k ok kok ok kK kk ok ok Rk k% GRAND TOTAL********xxx** /FAIL should be 1449
NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MCDXLIX is a VALID roman numeral

runningTotal:49

Not added total:1150

**TOTAL: 1199

hhkkhkkkhhkkhhkkhhkhkkhhkkhhkhhkhkhhkhhkkhhkhhhhkdhkhx*x

KAk ko Ak kR kA kR k% xkk GRAND TOTAL**********%x* /FAIL should be 1494
NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MCDXCIV is a VALID roman numeral

runningTotal:94

Not added total:1150

**TOTAL: 1244

R R R R R R R R e R e R R R e R R R e e b

KAk ko Ak kR kA xRk %k Rk GRAND TOTAL**********%x* /FAIL should be 1499
NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MCDXCIX is a VALID roman numeral

runningTotal:99

Not added total:1150

**TOTAL: 1249

hhkkkhkkhkhkhkhkhkkhkkhkkhkkhkhkhkhkhkkhkkhkkhkhkhhkhkhkhkkkhhhkhhhx



khkkkhkkkhkhkkkhkkkihkkihkkhkkhkkikkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MCMXLIV is a VALID roman numeral

runningTotal:44

Not added total:1900

**TOTAL: 1944

khkkkhhkkhkhkkhkkhkkkihkkhhkkhhkhkrhkkihkkhkhkhkkhkhkkihkkihkhhkkx

kkhkkkhkkkhkhkkkhkkkihkkihkkhkhkhkkikkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MCMXCIX is a VALID roman numeral

runningTotal:99

Not added total:1900

**TOTAL: 1999

khkhkkhkhkkhkhkhkkhkkkhhkkhhkkhkhkhkhhkkhhkkhkkhkhkhkhkkihkkihkkhkhkkx

Kok Kk ok ok kok ok Kk kk kR kkk % GRAND TOTAL*********xx** should be 2444
NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMCDXLIV is a VALID roman numeral

runningTotal:44

Not added total:1650

**TOTAL: 1694

khkhkkhkhkkhkhkkkhkkkhhkkhkhkkhkhkhkkhhkkhhkkhkkhkhkhkhkkihkkihkkhkhkkx

kkhkkhkkkhkhkkhkhkkhkhkkhkhkkkkhkkhkkhkkkk GRAND TOTAL************* ShOLIld be 2449
NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth

MMCDXLIX is a VALID roman numeral



runningTotal:49
Not added total:1650

**TOTAL: 1699

KhkkkkhkAkkhkkkhkkhhkhkhkhkkhkkhkkhkkhhkhhkkhkkhkkhrhkrhx*x

Sk k ok ok ko kk kR kkkk GRAND TOTAL********xx*%* should be 2494
NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMCDXCIV is a VALID roman numeral

runningTotal:94

Not added total:1650

**TOTAL: 1744

hhkkhkhkkhhkkhhkkhhkhkkhkkhhkhhkhkhhkhhkkhhkhhhrkdhkhx*k

KAk ko Ak kR kxR Rk x xRk GRAND TOTAL**********%x* should be 2499
NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMCDXCIX is a VALID roman numeral

runningTotal:99

Not added total:1650

**TOTAL: 1749

khkhkkhkhkkhkhkhkkhkkkhkhkkhkhkkhkhkhkkhhkkhhkkhkkhkhkkhkhkkihkkihkkhkhkkx

khkkhkkhkkhkkhkhkhkkkhkhkhhkhhkkkk ) k% GRAND TOTAL************* Should be 2944
NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMCMXLIV is a VALID roman numeral

runningTotal:44



Not added total:2400

**TOTAL: 2444

AAKRARKRAARAhAAAAhkkhddhkhhkhkkkhkkhkdhhkhkkkkx%

Kok k ko Ak kR Ak kR ko xRk k GRAND TOTAL***** %% %% %% * should be 2949
NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMCMXLIX is a VALID roman numeral

runningTotal:49

Not added total:2400

**TOTAL: 2449

hhkkhkkkhhkkhhkkhkhkhkkhhkkhhkhhhkkhhkhhhkkhkkhhkhhxkhhkktx

skeckckckskckkckckskkskkcksk ks skok ko GRAND TOTAL*************
NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
is a VALID roman numeral : — A

> can see that for Decimal 2949 (MM GM XL IX

runninglotal: the, AT
Not added total: en an
**TOTAL: o o

EEEEZEEZEZEIEEIEEEEEEEEEEESELEEEEES X

de output of NECIM A

R T T LT T 7 ek Rk ki Rk R R Rk kR kok

OLD PROGRAMME LOGIC OLD PROGRAMME LOGIC

AR R R R R R R R R R R R R R R Rk
kkkkkkkkkkkkkRkkkkkkk bk kkkkkkkkkk kb kkkRkEkE

MMCMXLIV is the roman numeral
number of Vs: 1

number of Ls: 1 number of Ds: 1
number of Ds: © ruled: @
ruled: o Value in rulez rule2: @

h here but no value
rule2: 2000 in rule2 here. . rule4single: ©

CDXLIV is the roman numeral
number of Vs: 1

number of Ls: 1

rule4Single: © rules: @
rule5: 1100 rule6: 400
rule6: 900 rule7: @

rule7: 900 threeinarow:@
threeinarow:o Untotal: 560

So | have had to modify the logic in all my Conditions



if (isFullstoreThreeSubtractiveNumerals)
I
L

if (rulee! e7 rule2=

unTotal = (unTotal/2) + rule6;
.out.println("THIS CONDITION1");

unTotal = rule6;
System.out.println{"THIS CONDITION

if (rulese! & r rule2!=a)

I
L

unTotal = rule2 + ruleé
.out.println("THIS CO

TEST CASE: | will need to run through entire set of numerals again. And ensure there are no
disruptions...

Decimal: 444 => CDXLIV

THIS CONDITION2

ok kKA kKK kA ko GRAND TOTALR % %% % 5% % ko %

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CDXLIVis a VALID roman numeral

runningTotal:44

Not added total:400

**TOTAL: 444

khkhkkhkhkkhkhkhkkhkkkhhkkhkhkkhkhkhkkhhkkhhkkhkkhkhkhkhkkihkkihkkhkhkk

Decimal: 449 => CDXLIX

THIS CONDITION2

ko ko k ok ok ook GRAND TOTALR* %% 5k k& k ok

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CDXLIX is a VALID roman numeral

runningTotal:49

Not added total:400



**TOTAL: 449

khkhkkhhkkhkhkhkkhkkkhhkkhhkkhhkhkrhkkdhkkhkkhkhkkhkhkkrhkkihkhhkkx

Decimal: 494 => CDXCIV
THIS CONDITION2

*khkkkkkhkhkhkhkkkhkkhkkkhkhkhkhkkkk*% GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CDXClVis a VALID roman numeral

runningTotal:94

Not added total:400

**TOTAL: 494

hhkkhkkkhhkkhhkkhkhkhkkhhkkhhkhhhkkhhkhhhkkhhhhkhhkhhkkxx

Decimal: 499 => CDXCIX

THIS CONDITION2

kA kA kKK k& ko GRAND TOTALR % %% % 5% 4 ko k%

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CDXCIXis a VALID roman numeral

runningTotal:99

Not added total:400

**TOTAL: 499

khkhkkhkhkkhkhkhkkhkkkhhkkhhkkhkhkhkkhhkkhhkkhkhkhkkhkhkkhhkkihkkhkhkkx

Decimal: 944 => CMXLIV

THIS CONDITION2

AAhkhkhkhkhkkhk khkhkkhkkkkhkhkikhkk*k GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CMXLIV is a VALID roman numeral

runningTotal:44



Not added total:900

**TOTAL: 944

KhkkkkhkAkkhkkkhkkhhkhkhkhkkhkkhkkhkdhkhhkkhkkhkkhhhkhhkx*x

Decimal: 949 => CMXLIX
THIS CONDITION2

*khkkkkkhkhkhkhkkkhkkhkkkhkhkhkhkhkkk* GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CMXLIXis a VALID roman numeral

runningTotal:49

Not added total:900

**TOTAL: 949

hhkkhkkkhhkkhhkkhkhhkkhhkkhhkhhhkkhhkhhhkkhhkhhkhhkkhhkktx

Decimal: 994 => CMXCIV
THIS CONDITION2

khkhkkhkkkhkhkhkkhkkkikhkkhkkhkkhkkihkkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CMXCIV is a VALID roman numeral

runningTotal:94

Not added total:900

**TOTAL: 994

khkhkkhkhkkhkhkkhkkhkkkhhkkhhkkhkhkhkkhhkkhhkkhkkhkhkhkhkkihkkihkkhkhkkx

Decimal: 999 => CMXCIX

THIS CONDITION2

ko ko k ok kR ko GRAND TOTALR* %% ok k k k k

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
CMXCIXis a VALID roman numeral

runningTotal:99

Not added total:900



**TOTAL: 999

khkhkkhhkkhkhkhkkhkkkhhkkhhkkhhkhkrhkkdhkkhkkhkhkkhkhkkrhkkihkhhkkx

ERROR WITH THIS.. WE CAN SEE IT HAS GONE INTO CONDITION 1 now and total has been affected
Decimal: 1444 => MCDXLIV

THIS CONDITION1

ek Kk kK k ok kR ok GRAND TOTALR* % % % ok k4 %k ok

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MCDXLIV is a VALID roman numeral

runningTotal:44

Not added total:1150

**TOTAL: 1194

ERROR WITH THIS
Decimal: 1449 => MCDXLIX

THIS CONDITION1

ek kA kKK ko k ok GRAND TOTALR % %% % 5% 4 ko %

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MCDXLIX is a VALID roman numeral

runningTotal:49

Not added total:1150

**TOTAL: 1199

Decimal: 1449 => MCDXLIX



Here is the result that | was getting (see below) and the intervention required.

sk Rkd Rk Rk RRk Rk Rk kR kRkE Rk R kR Rk X3 ¥ 2QRIGINAL UNTOTAL: 1500
THIS CONDITION1

skERRRERk Rk R RRR R kR GRAND TOTAL® ® s ®skkkkksk

NOTE: Code is designed for up to MMMM=48606 due to notation changes henceforth
MCDXLIX is a VALID roman numeral

runningTotal:49

Not added total:115@

**TOTAL: 1199
ok o o ok ok R oK R K R K R R R R oK oK R oK R K KoK R R R R oK oK

(rule5 - 100) + rule6 +
running Total

kkkkkkkkkkkskskkskskkkskskkkskkkkskkskskkkk sk kskk sk kokk ksk ok
1000 + 400 + 49 = 1449

OLD PROGRAMME LOGIC

sk s ok ok sk ook ok ok ok ok ok R ok R ok ok Rk ok R ok ok R R ok ok ok oK ok 30k

MCDXLIX is the roman numeral
number of Vs: @
number of Ls: 1
number of Ds: 1
ruled: 8

rule2: ©
rule4Single: © [ETEEREY . f (rules!_0 88 rule? ale
rule5: 1100 { [

rule6: 400 unTotal - (unTotal/2) + rules; " unTotal - (rule + rule6;
r'ule?: 400 out.println("THI ITION1™); .out.println( CONDI

threeinarow:®@
bntotal:115e




kAhkhkkhkhkkhhkkhkkhkkkihkkhhkkhhkkhkdhkkdhkkhkhkhkkhhkkrhkkihkhhkkx

stk sk sk oR ok ok sk sk skl ol oR ok ok kR kol kR R R R Rk R QRTGINAL UNTOTAL: 1500
THIS CONDITION1

dkckckkckkckkkkkkkkkkkkkk GRAND TOTAL*************
NOTE: Code is designed for up to MMMM=400@ due to notation changes henceforth
MCDXLIV is a VALID roman numeral
runningTotal:44

Not added total:115@

**TOTAL: 1194
ok ok ok o ok oo kok ok ok o koo ok ok ok kR R Rk ok ok R R R R Rk ok (rule5-100) + (rule 6 orrule 7) +
running Total

1000 + 400 + 44 = 1444

|******************************************** Perhaps this has arisen due to
OLD PROGRAMME LOGIC the CD subtractive notation

Only way to make target 1,444
is performing

EEEEEEEEEEEEEEEEEEEEEEESEEELEEESESEESEESESESESEESSE]
MCDXLIV is the roman numeral

number of Vs: 1

number of Ls: 1

number of Ds: 1

ruled: @
rule2: o
ruled4Single: ©
rule5: 1100
rule6: 400
rule7: 400

threeinarow:®

Untotal:1150

Enter number numerals in the number to be converted to decimal:
This will be converted to decimal:MCDXLIX

the length is:7

If this logic holds for the remaining failed cases below, | will need to consider it a valid solution



************************************ORIGINAL UNTOTAL: 1580

THIS CONDITION1 It can be seen another option ’

WHAT IS RUNNING TOTAL: 44 for condition3d is
untotal = (untotal-100})

FREFRFRFRFRFRFRFRFREE QRAND TOTALFFFFFHFHFwFH%

NOTE: Code is designed for up to MMMM=4000 due to notation cl
MCDXLIV is a VALID roman numeral

runningTotal:44

Not added total:1400

**TOTAL: 1444

***************w*************

NOW CORRECT

EEE R E S E L EEE LS EEEE LS EEEEEEEEEEEEEEEEEEEEEEE

OLD PROGRAMME LOGIC

kkkckkkckckkkkkkkckskshckokkkk sk k sk sk sk sk sk sk k sk sk sk sk sk sk sk sk sk sk sk ok

MCDXLIV is the roman numeral
number of Vs: 1
number of Ls: 1
number of Ds: 1

ruled4: ©
rule2: ©
ruled4Single: ©
rule5: 1100
rule6: 400
rule7: 400

threeinarow:@
Untotal:1400

I will try all the cases again and notably look out for when it changes to condition1

Decimal: 1444 => MCDXLIV

THIS CONDITION1
WHAT IS RUNNING TOTAL: 44

WHAT IS untotal: 1400

khkkkkkhkhkhkkkkkkhkhkhkhkkkx GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth

MCDXLIV is a VALID roman numeral



runningTotal:44
Not added total:1400

**TOTAL: 1444

KhkkkkhkAkkhkkkhkkhhkhkhkhkkhkkhkkhkkhhkhhkkhkkhkkhrhkrhx*x

Decimal: 1449 => MCDXLIX

THIS CONDITION1
WHAT IS RUNNING TOTAL: 49

WHAT IS untotal: 1400

hhkkkkhkhkkhhkkhhkhkkhkkhhkhhkkhkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MCDXLIX is a VALID roman numeral

runningTotal:49

Not added total:1400

**TOTAL: 1449

BRI R R R R e R R R e R R R R I R R e i R e



Decimal: 1494 => MCDXCIV

THIS CONDITION1
WHAT IS RUNNING TOTAL: 94

WHAT IS untotal: 1400

*khkkkkkhkhkhkhkkkkhkkhkkhkhkhkhkkkk*% GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MCDXCIV is a VALID roman numeral

runningTotal:94

Not added total:1400

**TOTAL: 1494

Decimal: 1499 => MCDXCIX
THIS CONDITION1

WHAT IS RUNNING TOTAL: 99

WHAT IS untotal: 1400

ok koK k kR k. GRAND TOTALR % % % k4 %k

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MCDXCIX is a VALID roman numeral

runningTotal:99

Not added total:1400

**TOTAL: 1499

BRI R R R R e R R R e R R e R R I R R e R i R



Decimal: 1944 => MCMXLIV

THIS CONDITION1

WHAT IS RUNNING TOTAL: 44

WHAT IS untotal: 1900

kR Kk ko k ok kR okok GRAND TOTALR* % % % ok k4 %k k

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MCMXLIV is a VALID roman numeral

runningTotal:44

Not added total:1900

**TOTAL: 1944

khkhkkhkhkkhkhkhkkhkkkhhkkhhkkhkhkhkihkkhhkkhkkhkhkkhkhkkihkkihkkhkhkkx

Decimal: 1999 => MCMXCIX

THIS CONDITION1
WHAT IS RUNNING TOTAL: 99

WHAT IS untotal: 1900

kkhkhkkhkkkhkkkkhkkkikhkkikkkhkkhkkihkkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MCMXCIX is a VALID roman numeral

runningTotal:99

Not added total:1900

**TOTAL: 1999

hhkkkkhkhkhkhkkhkkhkkhkkhkhkhkhkhkkhkkhkkhkhkhkhkhkhkkhkkkhhhkhhhx



Decimal: 2444 => MMCDXLIV

THIS CONDITION3 //\We are now in condition 3 and it still seems to be ok

kA kA KAk kK k ok GRAND TOTALR %% % % %44 k%

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMCDXLIV is a VALID roman numeral

runningTotal:44

Not added total:2400

**TOTAL: 2444

khkhkkhkhkkhkhkhkkhkkkhhkkhhkkhkhkhkihkkhhkkhkkhkhkhkhkkihkkihkkhkhkkx

Decimal: 2449 => MMCDXLIX
THIS CONDITION3

hhkkkkhkhkkhkkhhkhkkhkkhhkhhkkhkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMCDXLIXis a VALID roman numeral

runningTotal:49

Not added total:2400

**TOTAL: 2449

khkhkkhkhkkhkhkhkkhkkkhhkkhkhkkhkhkhkkhhkkhhkkhkkhkhkkhkhkkihkkihkkhkhkk

Decimal: 2494 => MMCDXCIV
THIS CONDITION3

khkhkkhkkkhkhkkkkkikhkkhkkkhkkhkkhhkkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMCDXCIV is a VALID roman numeral

runningTotal:94

Not added total:2400

**TOTAL: 2494

hhkkkkhkhkhkhkkhkkhkkhkkhkhkhkhkhkkhkkhkkhkhkhhkhkhkkhkkkhhhkhhhx



Decimal: 2499 => MMCDXCIX
THIS CONDITION3

kkhkkkhkkkhkhkkkhkkkihkkihkkhkkkkikkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMCDXCIX is a VALID roman numeral

runningTotal:99

Not added total:2400

**TOTAL: 2499

KhkkkkhkAkkhkkkhkkhhkhkhkhkkhkkhkkhkhkhhkhhkhkkkhhhkhhx*x

Decimal: 2944 => MMCMXLIV

THIS CONDITION3

ok kKA kK kA k ok GRAND TOTALR % %% % 54 4 %k k%

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMCMXLIV is a VALID roman numeral

runningTotal:44

Not added total:2900

**TOTAL: 2944

khkhkkhkhkkhkhkkhkkhkkkhhkkhhkkhkhkhkkhhkkhhkkhkkhkhkhkhkkihkkihkkhkhkkx

Decimal: 2949 => MMCMXLIX
THIS CONDITION3

kkhkhkkhkkkhkkkkhkkkhkhkkhkkkhkkhkkhhkkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMCMXLIX is a VALID roman numeral

runningTotal:49

Not added total:2900

**TOTAL: 2949

hhkkkkhkhkhkhkkhkkhkkhkkhkhkhkhkhkkhkkhkkhkhkhhkhkhkhkkkhhhkhhhx



Decimal: 2994 => MMCMXCIV
THIS CONDITION3

khkkkhkkkhkhkkkhkkkihkkihkkhkhkhkkikkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMCMXCIV is a VALID roman numeral

runningTotal:94

Not added total:2900

**TOTAL: 2994

khkhkkhhkkhkhkhkkhkkhkkhhkkhhkkhhkhkrhkkhhkkhkkhkhkkhkhkkihkkihkhhkkx

Decimal: 2999 => MMCMXCIX

THIS CONDITION3

kA koo k ok ok ko GRAND TOTALR* * % %%k k

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMCMXCIXis a VALID roman numeral

runningTotal:99

Not added total:2900

**TOTAL: 2999

BRI R R R R e R R R e R R e R R I R R e R i R

Decimal: 3444 => MMMCDXLIV

THIS CONDITION3

kA koo k ok ok ok GRAND TOTALR* % % 44k k ok

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMMCDXLIV is a VALID roman numeral

runningTotal:44

Not added total:3400

**TOTAL: 3444

R R R R R R R R e R R R e R o R e R



Decimal: 3449 => MMMCDXLIX
THIS CONDITION3

kkhkkkhkkkhkhkkkhkkkihkkihkkhkkkkikkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMMCDXLIX is a VALID roman numeral

runningTotal:49

Not added total:3400

**TOTAL: 3449

KhkkkkhkAkkhkkkhkkhhkhkhkhkkhkkhkkhkhkhhkhhkhkkkhhhkhhx*x

Decimal: 3494 => MMMCDXCIV
THIS CONDITION3

hhkkhkkkhkhkkhkkhhkhkkhkkhhkhhkkhkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMMCDXCIV is a VALID roman numeral

runningTotal:94

Not added total:3400

**TOTAL: 3494

hhkkhkkkhhkkhhkkhkhkhkkhhkkhhkhhkkhhkhhhkkhhkkhhkkdhkhhkkx*x

Decimal: 3499 => MMMCDXCIX
THIS CONDITION3

kkhkhkkhkkkhkkkkhkkkikhkkikkkhkkhkkihkkk GRAND TOTAL*************

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMMCDXCIXis a VALID roman numeral

runningTotal:99

Not added total:3400

**TOTAL: 3499

R R R R R R R R e R R R R o R e R



Decimal: 3944 => MMMCMXLIV

THIS CONDITIONS3

ok kK k ok kR okok GRAND TOTALR* % % % ok k4 %k ok

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMMCMXLIV is a VALID roman numeral

runningTotal:44

Not added total:3900

**TOTAL: 3944

khkhkkhhkkhkhkhkkhkkkihkkhhkkhhkhkrhkkdhkkhkkhkhkkhkhkkihkkihkhhkkx

Decimal: 3949 => MMMCMXLIX

THIS CONDITION3

kK kKK kK kA k ok GRAND TOTALR % %% % 54 % ko k%

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMMCMXLIX is a VALID roman numeral

runningTotal:49

Not added total:3900

**TOTAL: 3949

khkhkkhkhkkhkhkkkhkkkhhkkhkhkkhkhkhkkhhkkhhkkhkkhkhkhkhkkihkkihkkhkhkkx

Decimal: 3999 => MMMCMXCIX

THIS CONDITION3

ok kA kKK ko x ko GRAND TOTALR %% % % 5% 4 ko %

NOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
MMMCMXCIXis a VALID roman numeral

runningTotal:99

Not added total:3900

**TOTAL: 3999

hhkkkhkkhkhkhkhkhkkhkkhkkhkkhkhkhkhkhkkhkkhkkhkhkhhkhkhkhkkkhhhkhhhx



| can safely say | have seen every conversion appear on the screen successfully. But with all the
changing, I need to run through entire numerals again....

I am hoping this will be my final test case..

TEST CASE: Running through entire execution... = PASS

For some reason the code is not terminating... and re-enters the for loop.

FREFFRRRER Rk R R RR R kRRk QRAND TOTAL® *F % FFkFkwFsk*

NOTE: Code is designed for up to MMMM=4800 due to notation changes henceforth
MMMCMXCIX is a VALID roman numeral

runningTotal: 99

Not added total:390@

**TOTAL: 3999

koo kiR ok ok Soekok dekokokokolokosR ok ekok kelok kol ok ok

s koo koo ook ok ook ook kol ook kR eokok dokoRdoloRdokoR sk okoR okok ok

OLD PROGRAMME LOGIC

s sk sk sk s ok ok sk ok e ko ek kool ook ook ok okoR sokoRsokoR kR ok

MMMCMXCIX is the roman numeral
number of Vs: @
number of Ls: @
number of Ds; @

ruled4: o
rule2: 3000
rule4Single: @
rule5: 1100
rule6: 900
rule7: 900

threeinarow:®@
Untotal: 3900
Enter number numerals in the number to be converted to decimal:
Exception in thread "main"
java.lang.NullPointerException
at Main.main(Main.java:4114)

| have created a



TEST CASE: Trying an array with invalid roman numeral and a

valid after PASS

Roman Numeral V can not precede: 10 /IThese are type messages | want to capture in
errorLog and present it at end after the new Logic to ensure end user has better visibility

Illegal subtractive notation found withV, D orL  //suitable for error log
Rule 7

This is overall total:0

Thisisvalueofc: 1

This is the numeral value: 1
Thisisvalueofc: 1

This is the numeral value: 5
Thisisvalue of c: 0

This is the numeral value: 10

This has not been added to the total10
This is the position: 2

Thisisvalue ofc: 0

This is the numeral value: 5

This has not been added to the totall5
This is the position: 3

Invalid roman numeral. NumeralV or D or L has occured more than once //suitable for error log

kkhkkkkkkkkkkkkkkkkkkkk GRAND TOTAL*************

IVXV is an INVALID roman numeral

Address the issues outputted for a valid Roman numeral

kkhkkkkhkkkhkkhkkkhkhkhkkhkkkhkkhkkhkkhkhkhkhkhkkkkhkkhkk*x



KKK AAIAAKRKARKAA AR AR AR ARk dhd Ak A hkhkkddhkhkhhkkhkkhkkhhhhhhk*x

OLD PROGRAMME LOGIC
ek ok ko ok ok ko ok ok ok ok ko ok ok ok
IVXV is the roman numeral
number of Vs: 2
number of Ls: 0
number of Ds: 0

rule4: 0

rule2: 0

rule4Single: 4

rule5: 0

rule6: 4

rule7: 0

threeinarow:0

Untotal:15

More than 2 instances of V, L and D: //suitable for error log
D:0 //suitable for error log
V:2 //suitable for error log
L:0 //suitable for error log

IVXV is NOT a VALID roman numeral

Address the issues outputted for a valid Roman numeral



TEST CASE: Tidying up error log messages. Then inputting rogue numeral (input
with no knowledge of the system) and following logs to change it to valid numeral

My strategy is to remove the first error reported and then re-compile code until it passes as valid....

I had to increase this variable to compensate for more subtractive notations

e[ (numer

***OUTPUT kkhkkkkkhkkikkhkkk*k

Welcome to Online IDE!! Happy Coding :)

Enter number numerals in the number to be converted to decimal:

This will be converted to decimal:IVXCXIVCILCDCCMMIVCMXXXXXICDLLM
the length is:31

numerals in the roman numeral:31

Inrule4

hhkkhkkkhhkkhhkkhhkhkkhkkhhkhhkkhkkhx*k

TWO SUBTRACTIVE NOTATIONS FOUND:

ERE R R R R R R R e R R i

TWO SUBTRACTIVE NOTATIONS FOUND:

khkhkkhkkkhkhkhkkkkhkhkkhkhkkhkhkhkkihkkhkhkkhkkhkhkkhik*k

TWO SUBTRACTIVE NOTATIONS FOUND:
hAhkhkkhkhkkhkhkkhhkkhkhkkhkhkkhkhkhhkhkhkhkhhkkhkhk*k

VO

total after rule4:0

true

hhkkhkkhkhkhkhkkhhkkhhkkhhkkhhkhkhkhkkhkkkx

IX-1

total after rule4:0

true

kkhkhkkhkhkkhkhkkkhkkkikhkkhkkkhkkkkihkkhhkkk



XL-1
total after rule4:0
true

*Ahkkkkkhkhkkhkkkhkkhkkkhkhkhkhkkkkkk*%

TWO SUBTRACTIVE NOTATIONS FOUND:
ek ok ko ok K ok ko kA

XC

This should print out start of the range:10
This should print out end of the range:90
v

This should print out start of the range:1
This should print out end of the range:4
correct order

XC2

VO

TWO SUBTRACTIVE NOTATIONS FOUND:

khkhkkhkkkhkhkkkhkkkhhkkhhkkhkhkhkkihkkhkhkkhkkihkkhhk*k

TWO SUBTRACTIVE NOTATIONS FOUND:
ek ek ko kK ok kK ok kK

XC2

total after rule4:0

true

khkhkkhkkkhkhkkkkkhkhkkhkkkhkkkkhkhkkhkhkkk

TWO SUBTRACTIVE NOTATIONS FOUND:
A

CD

This should print out start of the range:100
This should print out end of the range:400
v

This should print out start of the range:1



This should print out end of the range:4
TWO SUBTRACTIVE NOTATIONS FOUND:
ek ok ok ok K ok ko ok A

CD

This should print out start of the range:100
This should print out end of the range:400
XC

This should print out start of the range:10
This should print out end of the range:90
TWO SUBTRACTIVE NOTATIONS FOUND:
ek ok ok ko ok ok ok ok A

CD10

total after rule4:0

true

khkhkkhkhkkhkhkkkhkkkihkkikkkhkhkhkkihkkhhkkk

TWO SUBTRACTIVE NOTATIONS FOUND:
ek ok ok ok ok ok ok K ok ok ok ok ok ok ok K

CM

This should print out start of the range:100
This should print out end of the range:900
v

This should print out start of the range:1
This should print out end of the range:4
TWO SUBTRACTIVE NOTATIONS FOUND:
A

CM

This should print out start of the range:100
This should print out end of the range:900
XC

This should print out start of the range:10



This should print out end of the range:90
TWO SUBTRACTIVE NOTATIONS FOUND:
ek ok ok ok K ok ko ok A

CM

This should print out start of the range:100
This should print out end of the range:900
CD

This should print out start of the range:100
This should print out end of the range:400
CMisintherange: 100 -900
CDisintherange: 100 - 400

They are both in the same range

CM13

total after rule4:0

true

Goingintorule 3
value of indexCount: 0
31

value of indexCount: 1
31

foundaV

value of indexCount: 2
31

value of indexCount: 3
31

value of indexCount: 4
31

value of indexCount: 5

31



value of indexCount:

31

foundaV

value of indexCount:

31

value of indexCount:

31

value of indexCount:

31

value of indexCount:

31

value of indexCount:

31

value of indexCount:

31

value of indexCount:

31

value of indexCount:

31

value of indexCount:

31

value of indexCount:

31

value of indexCount:

31

foundaV

value of indexCount:

31

value of indexCount:

31

6

7

10

11

12

13

14

15

16

17

18

19



value of indexCount: 20

31

value of indexCount: 21

31

value of indexCount: 22

31

value of indexCount: 23

31

value of indexCount: 24

31

value of indexCount: 25

31

value of indexCount: 26

31

value of indexCount: 27

31

value of indexCount: 28

31

value of indexCount: 29

31

value of indexCount: 30

31

What is value of zeroindexcount: 0

How many times does it enter in this section

Whatis m: 10

Whatis m-1: 100

atrule6:0

Rule 6

Must WORK!!!!

0



1

Rule 7

This is overall total:0
Goingintorule 3

What is value of zeroindexcount: 1
How many times does it enter in this section
Whatism: 1

Whatis m-1: 10

Hokkxx kR RULEG*****%: 11
atrule6:0

Rule 6

Must WORK!!!!

1

5

Roman Numeral V(5) (numeralindex:1) can not precede: X(10) //I willremove the V from the
numeral

Illegal subtractive notation found with V, D or L
Rule 7

totalatrule 7:4

This is overall total:0

Goingintorule 3

What is value of zeroindexcount: 2

atrule6:0

Rule 6

Must WORK!!!!

2

10

Illegal subtractive notation found with V, D or L
Rule 7

This is overall total:0



Goingintorule 3

What is value of zeroindexcount: 3
atrule6:0

Rule 6

Must WORK!!!!

3

100

Rule 7

This is overall total:0
Goingintorule 3

What is value of zeroindexcount: 4
How many times does it enter in this section
Whatis m: 1

What is m-1: 100
*kxkxxkRRULEG******: 101
atrule6:0

Rule 6

Must WORK!!!!

4

10

Rule 7

total at rule 7:53

This is overall total:0
Goingintorule 3

What is value of zeroindexcount: 5
atrule6:0

Rule 6

Must WORK!!!!

5

1



Illegal subtractive notation found with V, D or L
Rule 7

This is overall total:0

Goingintorule 3

What is value of zeroindexcount: 6

How many times does it enter in this section
What is m: 100

What is m-1: 500

atrule6:0

Rule 6

Must WORK!!!!

6

5

Roman Numeral V(5) (numeral index:6) can not precede: C(100) //l will remove the V from the
numeral

Illegal subtractive notation found with V, D or L
Rule 7

This is overall total:0
Goingintorule 3
starting rule 1

Value of coutner: 0
Value of coutner: 4
Value of coutner: 8
Value of coutner: 12
Value of coutner: 16
Value of coutner: 20
Value of coutner: 24
Value of coutner: 28

Amit Amlani



What is value of zeroindexcount: 7
atrule6:0

Rule 6

Must WORK!!!!

7

100

Rule 7

This is overall total:0

Goinginto rule 3

What is value of zeroindexcount: 8
How many times does it enter in this section
Whatis m: 1

Whatis m-1: 1000
*xxxxkkRULEG******: 1001
atrule6:0

Rule 6

Must WORK!!!!

8

1

Roman Numeral I(1) (numeral index:8) can not precede: L(50) //l will remove the | from the numeral

Illegal subtractive notation found with V, D or L
Rule 7

total atrule 7:57

This is overall total:0

Goingintorule 3

What s value of zeroindexcount: 9

atrule6:0

Rule 6

Must WORK!!!!



9
50

Roman Numeral L(50) (numeral index:9) can not precede: C(100) //l will remove the L from the
numeral

Illegal subtractive notation found with V, D or L
Rule 7

This is overall total:0

Goingintorule 3

What is value of zeroindexcount: 10
atrule6:0

Rule 6

Must WORK!!!!

10

100

Illegal subtractive notation found with V, D or L
Rule 7

This is overall total:0

Goingintorule 3

What is value of zeroindexcount: 11
atrule6:0

Rule 6

Must WORK!!!!

11

500

Rule 7

This is overall total:0

Goingintorule 3

What is value of zeroindexcount: 12

How many times does it enter in this section

Whatis m: 10



What is m-1: 1000
*xxxxk*RULES******: 1010
atrule6:0

Rule 6

Must WORK!!!!

12

100

Rule 7

This is overall total:0
Goingintorule 3

starting rule 1

Value of coutner: 0

Value of coutner: 4

Value of coutner: 8

Value of coutner: 12

Value of coutner: 16

Value of coutner: 20

Value of coutner: 24

Value of coutner: 28

Amit Amlani

So far sum:20

does this happen45

What is value of zeroindexcount: 13
atrule6:0

Rule 6

Must WORK!!!!

13

100

Illegal subtractive notation found with V, D or L

Rule 7



This is overall total:0
Goinginto rule 3
starting rule 1

Value of coutner: 0
Value of coutner: 4
Value of coutner: 8
Value of coutner: 12
Value of coutner: 16
Value of coutner: 20
Value of coutner: 24
Value of coutner: 28
Amit Amlani

So far sum:30

does this happen45
What is value of zeroindexcount: 14
atrule6:0

Rule 6

Must WORK!!!!

14

1000

Rule 7

This is overall total:0
Goingintorule 3
starting rule 1

Value of coutner: 0
Value of coutner: 4
Value of coutner: 8
Value of coutner: 12
Value of coutner: 16

Value of coutner: 20



Value of coutner: 24
Value of coutner: 28
Amit Amlani

So far sum:40

does this happen45
What is value of zeroindexcount: 15
atrule6:0

Rule 6

Must WORK!!!!

15

1000

Rule 7

This is overall total:0
Goingintorule 3
starting rule 1

Value of coutner: 0
Value of coutner: 4
Value of coutner: 8
Value of coutner: 12
Value of coutner: 16
Value of coutner: 20
Value of coutner: 24
Value of coutner: 28
Amit Amlani

So far sum:50

What is value of zeroindexcount: 16
atrule6:0

Rule 6

Must WORK!!!!

16



1

Illegal subtractive notation found with V, D or L
Rule 7

This is overall total:0

Goingintorule 3

What is value of zeroindexcount: 17

How many times does it enter in this section
Whatism: 1

Whatis m-1: 10

wkxxxx*RULEG******: 11

atrule6:0

Rule 6

Must WORK!!!!

17

5

Roman Numeral V(5) (numeralindex:17) can not precede: C(100) //I will remove the V from the
numeral

Illegal subtractive notation found with V, D or L
Rule 7

total atrule 7:156

This is overall total:0
Goingintorule 3

What is value of zeroindexcount: 18
atrule6:0

Rule 6

Must WORK!!!!

18

100

Illegal subtractive notation found with V, D or L



Rule 7

This is overall total:0
Goingintorule 3

What is value of zeroindexcount: 19
atrule6:0

Rule 6

Must WORK!!!!

19

1000

Rule 7

This is overall total:0
Goingintorule 3

What is value of zeroindexcount: 20
How many times does it enter in this section
What is m: 50

What is m-1: 500

ok xxkkkRULEG******: 550
atrule6:0

Rule 6

Must WORK!!!!

20

10

Rule 7

This is overall total:0
Goingintorule 3

starting rule 1

Amit Amlani

So far sum:150

What is value of zeroindexcount: 21

atrule6:0



Rule 6

Must WORK!!!!

21

10

Rule 7

This is overall total:0
Goingintorule 3

What is value of zeroindexcount: 22
atrule6:0

Rule 6

Must WORK!!!!

22

10

Rule 7

This is overall total:0
Thisisvalueofc: 1

This is the numeral value: 1
Thisisvalueofc: 1

This is the numeral value: 5
Thisisvalueofc: 1

This is the numeral value: 10
Thisisvalueofc: 1

This is the numeral value: 100
Thisisvalue of c: 0

This is the numeral value: 10
This has not been added to the total: 10
This is the position: 4
Thisisvalue ofc: 0

This is the numeral value: 1

This has not been added to the total: 11



This is the position: 5

Thisisvalueofc: 0

This is the numeral value: 5

This has not been added to the total: 16
This is the position: 6

Thisisvalue ofc: 0

This is the numeral value: 100

This has not been added to the total: 116
This is the position: 7

Thisisvalue ofc: 0

This is the numeral value: 1

This has not been added to the total: 117
This is the position: 8

Thisisvalueofc: 0

This is the numeral value: 50

This has not been added to the total: 167
This is the position: 9

Thisisvalueofc: 1

This is the numeral value: 100
Thisisvalueofc: 1

This is the numeral value: 500
Thisisvalue of c: 0

This is the numeral value: 100

This has not been added to the total: 267
This is the position: 12

Thisisvalueofc: 1

This is the numeral value: 100
Thisisvalueofc: 1

This is the numeral value: 1000

Thisisvalue of c: 0



This is the numeral value: 1000

This has not been added to the total:
This is the position: 15
Thisisvalueofc: 0

This is the numeral value: 1

This has not been added to the total:
This is the position: 16
Thisisvalueofc: 0

This is the numeral value: 5

This has not been added to the total:
This is the position: 17

Thisisvalue ofc: 0

This is the numeral value: 100

This has not been added to the total:
This is the position: 18

Thisisvalue of c: 0

This is the numeral value: 1000

This has not been added to the total:
This is the position: 19

Thisisvalue ofc: 0

This is the numeral value: 10

This has not been added to the total:
This is the position: 20

Thisisvalue of c: 0

This is the numeral value: 10

This has not been added to the total:
This is the position: 21

Thisisvalue ofc: 0

This is the numeral value: 10

This has not been added to the total:

1267

1268

1273

1373

2373

2383

2393

2403



This is the position: 22

Thisisvalueofc: 0

This is the numeral value: 10

This has not been added to the total: 2413
This is the position: 23

Thisisvalue ofc: 0

This is the numeral value: 10

This has not been added to the total: 2423
This is the position: 24

Thisisvalue ofc: 0

This is the numeral value: 1

This has not been added to the total: 2424
This is the position: 25

Thisisvalue of c: 0

This is the numeral value: 100

This has not been added to the total: 2524
This is the position: 26

Thisisvalue ofc: 0

This is the numeral value: 500

This has not been added to the total: 3024
This is the position: 27

Thisisvalue of c: 0

This is the numeral value: 50

This has not been added to the total: 3074
This is the position: 28

Thisisvalue ofc: 0

This is the numeral value: 50

This has not been added to the total: 3124
This is the position: 29

Thisisvalue of c: 0



This is the numeral value: 1000
This has not been added to the total: 4124
This is the position: 30

Invalid roman numeral. Numeral V or D or L has occured more than once

khkkkikkkhkhkkkhkkkihkkihkkhkhkhkkikkk GRAND TOTAL*************

IVXCXIVCILCDCCMMIVCMXXXXXICDLLM is an INVALID roman numeral

Address the issues outputted for a valid Roman numeral

hhkkhkkkhhkkhhkkhkhhkkhhkkhhkhhhkkhhkhhhkkhhkkhhkhhxkhhkkxx

ERAE R R R R e R R R R R R R R i R i R R R R R R R R ek R ke

OLD PROGRAMME LOGIC

khkhkkhkhkkhkhkhkkhkkkhhkkhhkkhkhkhkhhkkhhkkhkkhkhkkhkhkkdhkkhhkkhkhhkhhkkhhkkihkhhhkhkx

IVXCXIVCILCDCCMMIVCMXXXXXICDLLM is the roman numeral
number of Vs: 3

number of Ls: 3

number of Ds: 2

rule4: 0

rule2: 150

rule4Single: 0

rule5: 550

rule6: 4

rule7: 156

threeinarow:0

Untotal:4124

More than 2 instances of V, L and D:
D:2

V:3



L:3
IVXCXIVCILCDCCMMIVCMXXXXXICDLLM is NOT a VALID roman numeral

Address the issues outputted for a valid Roman numeral

| eventually finish here and no more error messages . But it prompts of the repeat D and L.

So | will remove the repeat that occurs
dckckckkkokkkhkckchkckchkckchkckchkckchkckchkck sk sk sk sk sk sk sk sk ck sk sk ok sk

OLD PROGRAMME LOGIC

EEE S E S EEEEE S EEEE L EEEEEEEEEEEEEEEEEEEEEEE

IXCXCCDCCMMCMXXXXXICDLLM is the roman numeral

number of Vs: ©

number of Ls: 2

number of Ds: 2

rule4: o

rule2: 150

rule4Single: ©

rule5: 2671

rule6: 2389

rule7: 1089

threeinarow:@

Untotal:3951

More than 2 instances of V, L and D:

D: 2

V: ©

L: 2

IXCXCCDCCMMCMXXXXXICDLLM is NOT a VALID roman numeral
Address the issues outputted for a valid Roman numeral

Once I finish this, my numeral has validated as being legitimate. It is clearly not. So it shows that my
code can not be stressed outside realms of a small typo inputted by the end user.

EERESTARAEEEEAREEETEE GRAND TOTAL*** +HE+tesss
MNOTE: Code is designed for up to MMMM=4000 due to notation changes henceforth
IXCXCCDCCMMCMDOOOXXICLM is a VALID roman numeral

runningTotal: 99

Mot added total:2439

*+TOTAL: 2538
AT TEAETTEAREERTTERATETREEE TR

pe]
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OLD PROGRAMME LOGIC

e realms o

L T Ty

2]
(@)

IXCXCCDOCCMMOMDOOOXXICLM is the roman numeral

=
J

number of Vs: @
number of Ls:
number of Ds:
rule4: @
rule2: 50
rulesSingle: @
ruleS: 2271

threeinarow:8
Untotal:2439




THIS IS AN EXAMPLE OF A SITUATION THAT I HAD EARLY ON AND THIS WAS DUE TO ME NOT SETTING
THE INDEX VALUE CORRECTLY... FORTUNATELY THIS WAS STRAIGHT FORWARD
BUT IT SHOWS THAT THIS CHALLENGE WAS ON A COMPLETE KNIFE EDGE

THIS CONDITION2

This was expected to be 414 but it has reached
this loop and failed.... This was not a failing case
before......

sk kekckkkkckkkokkokokok GRAND TOTAL********
NOTE:f'Code is designed for up to MMMM=400@ due to notation changes henceforth
CDXIV is a VALID roman numeral

runningTotal: 404

Not added total:400

**TOTAL -z

dkEkkkkkkkkkkkkkkkkkkkkkk bk kkkwk Rk

skckckckckskckckokskokskokokskskckchohskokskokcksk sk sk sk sk sk sk sk ok sk sk sk sk sk sk sk sk ok kok

OLD PROGRAMME LOGIC

dkkkkkkkkkkkkkkkkkkkkkkkkk bk kR Rk kkkk kR RkEk

CDXIV is the roman numeral
number of Vs: 1
number of Ls: B
number of Ds: 1

ruled: ©
rule2: o
rule4Single: ©
ruleS5: ©
rule6: 400
rule7: ©

threeinarow:9

Untotal: 400

Enter number numerals in the number to be converted to decimal:
This will be converted to decimal:CDXV

the length is:4

numerals in the roman numeral:4

In rule 4



I am no

F (rule6!=0 && rule7!=8)

unTotal = (unTotal/2) + rulee;

.out.println(

f (ruleé & rule7==0)

unTotal = rule6;
.out.println("THIS CONDITION2"};

This is overall total:®@ This was incorect
This is value of ¢: 1

This is the numeral value: 18©

This is value of c: 1

This is the numeral value: 500

This is value of c: @

This is the numeral value: 1@

This has not been added to the totalle
This is the position: 2

This is value of c: 1

This is the numeral value: 1
This is value of ¢: 1

This is the numeral value: 5
THE NUMERAL: 1v |
THE NUMERAL: cD |
THE NUMERAL: null| j

THIS CONDITION2 //I believe if there = three iv
if (isFullstoreThreeSubtractiveNumerals)

I
L

FrREEFdkrFFrrrdFrrddEx QRAND TOTAL***FFFxFsdsrx

NOTE: Code is designed for up to MMMM=400© due to notation changes henceforth
CDXIV is a VALID roman numeral

runningTotal:4e4

Not added total:400

**TOTAL: 8e4

Sk el b b e b o e o e b e b e bk o ke b e ol ke



